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English written part
Read the following extract and answer questions 1 and 2:
Blow, blow, thou winter wind,
Thou art not so unkind
As man's ingratitude;
Thy tooth is not so keen,
Because thou art not seen,
Although thy breath be rude.
1. Identify and explain any one literary device used in the above extract. 2.5

2. Compare and contrast nature and mankind as presented in the given

extract. 2.5

3, How can science be made popular among school students in Bangladesh?
Write a paragraph in approximately 100 words. 5.0 J
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